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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
i Fe F % S ' : —czr gt | 1
Thermosphere | Mesosphere | Stratosphere | Troposphere | Ozone Layer lies in ‘
u‘"/)b l’fuﬁdzu,‘b'& ’ 22UV ./"’1/6/)5)/!{ *?-‘?’JU“PJU”"‘ 2
Filaaing HF - Ay CECs The causes of ozone depletion is
Jl‘/:"la/l) ufl‘;"fdk’ Iy /.6 ] 2 -‘Lt'f/&i?"’uv( 3
Large Small Stomach leer Hookworm infects ' .“(
intestine intestine | s D E
P E b = - (.
Eor f‘:/”; 7:; %, SEFL (}L‘_»c.t'la,u_.f@/rdff 4 .
) ig/ iy Vigrous reaction of water with -c_t‘/u’rlu'/c_
Caesium Strontium Silicon
: shatter glass trough in to small pieces. o
‘ o et et St st | S :
CaO CaCO; Ca(OH), CO;, -
When NaHCOs is heated it forms. %
ke &) ye i ";
_ iy : a6 |
mol ™ dm’ mol”' dm™ mol dm™ mol dm’
- Units’of molar concentration are
e brdegt e St |
NaOH Mg(OH), Ca(OH), | = KOH
Which base is used for manufacturing of soap
HNO, H,S0, HCl CH,COOH e b L S St S | 8

Which acid is used for preservation of food.
: -c_)'QdALlLJJ’/JJA:U/JJC/; 9
CH;COCH; | CH;CHO CH;COOH | CH;-CH,-OH | Which one of the following compounds is an

aldehyde?
CsH,» CsHy C3Hg C;H, . . ":—‘%JK’J:‘/U&/KV’KJM 10
: ‘Which one of these is a saturated hydrocarbon?
FEpest | LU s 5 S SE e dnblee 288§Dt | 11
Night * Ancmia in Scurvy Rickets Deficiency of vitamin D causes
blindness baby :
et Y Iy A e AU st | 12
Starch Sucrosc Fructose Glucose Which one of the following is a disaccharide?

s g o 1033-1024~50000 (2) :

S




e

uﬁ”ﬁ,}f;)ﬂ}’éﬁ’;duﬁri/vg{‘
2020 -22102022—-24 U"..{fll &JEU}%(ﬂJ&’V.)IOZZ‘
21145 125

U{g;:r’j
P12y 5
art -

Answer briefly any Five parts from the followings.

What is static equilibrium? Explain with example?

How is the active mass represented?

Is Coal tar a compound? What is the importance of coal tar?

Explain different radicals of butane?_éuy.'/éfg/..ﬁfy ﬁu'f;: )

Write down classification of coal?
Why the alkynes are called acetylenes?
Why are the alkanes used as fucl?
Answer briefly any Five parts from the followings.

Why H" ion act as a Lewis acid?

Define pH. What is the pH of pure wﬁter?
How can you justify that Pl(OH)NO; is a basic salt?
Give the general formula of lipids.
What are the disadvantages of fat soluble vitamins?
Mention the disadvantages of detergents.
What are boiler scales? What are their disadvantages?
Why are pesticides used?

Answer briefly any Five parts from the followings.
Why is the temperature of upper stratosphere higher?

How are sulpher containing compounds emitted naturally?

What do you mean by primary pollutants with one example.

What do you mean by anode mud? ?q_)l/gc, 435 ()

Give the reaction of formation of ammonia in the process of solvay.

What is concentration process used in metallurgy of copper?

How are slag and matte removed from the blast furnace?
Part: II

Note: Attémpt any Two Questions. 9x2=18 -u‘_/ /,,/’ :;l..lzﬁamr»:_—afi&)’
5.8, Define salts. Explain four methods to prepare soluble salts. As UBSk LSk S J!r-’é’i:_gfj’ S/ s

b. State the law of mass action and derive the expression for /4

equilibrium constant for a general reaction.

6.a. What is water sofiening? Describe two methods for the A5

removal of temporary hardness of water.

b. What are amino Acids? Explain how amino acids are building 4}4

blocks of protein?

7.a. Write the advantages of solvay’s process.

b. Explain hydrogenation and halogenation of Alkenes.
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
_ e Bl A I BT T U e S prir | 1
_CizHy CsHyg C;Hs CoH,y Which one of the following organic compounds is
found in gasoline?
uij;yrlé/.:/gldJc,c/»b{l SuXm S| 2
N, +3H, == 2NH,
H, J/ Hz/)‘Nz»_j/ NH;4/N;, H, NHgJ/‘ Kc =2.86 }7'101_2611”16
o Kz U S Ak
H; only N, and H, only NH;only | Nitrogen and hydrogen were reacted together to
make ammonia;
N, +3H, g==2 2NH,
K, =2.86 moldm®
What will be present in the equilibrium mixture?
te Ut WIS | 3
HSO; HSO; 8§72 SO;* :
Which ion is the conjugate base of Sulphuric acid?
et S U¥pOH LipH Utef b 425°C | 4
16 14 12 7 :
The sumofpH and pOH of solution at 25 °C is
-‘¢,uﬁfb7f¢.uf)f¢5gdje/ﬂq;o5ﬁf .5
(CH3),CHCI | (CH3),NH | (CH,),CO (CH;),CHOH Identify which-ofie of the following compounds is a
Ketone?
iy 1 . £ oo 3 A s % d z I D
cu/Hcl | Mg/HCl | Na/HCI Zn/HCl 4‘0”9:&’ AL ’“?ff’d"f“ kJd | 6
¢ The reduction of alkyl halides takes place in the presence of
711 nF ik et _%bnl&cg}i ﬁ/:‘f“;:’ 7
Glucose Sucrose Cellulose Starch Photosynthesis process produces
Rt | LRuE | g | wedEs fe Gl S S SRt | 8
Night Anemia in ; Deficiency of Vitamin E causes
blindness babies Scurvy Rickets v :
. 9 . [ P SR . 5 %
- 041CO; | COusIN, Nos10, CO,»H,0 *Utlsterie LU ISR P st ot | 9
j Infrared radiations emitted by the Earth are
Oz and C02 COZ and N2 Nz and Oz COZ and Hzo absorbed by
##3s K #30 #H1s KK —es2r SIS a1 Y | 10
33 Kilometres: | 30 kilometres | 15 kilometres | 11 kilometres | About 75% atmosphere’s mass lie within
oeltlilpe Y by s te G boisofeadtdiome | 11
Hepatitis Cholera Taundice Typhoid Which one of the following diseases causes liver
inflammation?
& i 5 g Ao pc.(fl:fc—u*(jlv)/yu":?ﬁ U”‘;Jdb A2
241K | 24kig K| 4218 'K | 42k1g7'K
. Specific heat capacity of water is
=g
G014 1035 - 102432000 (2)
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Anéwer briefly any Five parts from the followings.

What do you mean by equilibrium constant?
What do you mean by extent of reaction?
Define homologous serics.

Define destructive distillation.

What is difference pitch and coke?

What is difference between aldehydes and ketones?

Why alkynes are called acetylencs?

5%2=10

How can you prepare acetylene from tetrachloroethane?

Answer briefly any Five parts from the followings.

What are different uses of pH?

What are complex salts?

How can you justify that Pb(OH)NO; is a basic salt?

Give the characteristics of disaccharides?
Plants are source of oils justify?

What is capillary action?

Why are non-polar compounds insoluble in water?

What are the causes of hardness of water?

Answer briefly any Five parts from the followings.
CO is considered a health hazard. Why?

Point out two serious effects of ozone depletion?

" 5%2=10

5x2=10

How does high concentration of aluminium ions effect the

aquatic life?

Why are the flood risks increasing?

What is residual 0il? Write down names of its two fractions.

What is calcination in the Solvay’s process?

What do you know about the origin of petroleum?

Write down two benefits of natural fertilizers.

Note: Attempt any Two Questions.

9x2=18

Explain the Bronsted-Lowry concept of Acids and Bases,

Compare Macroscopic characteristics of forward and

reverse reactions.

Explain five important waterborne infectious diseases.

Explain the sources and uses of Lipids

What is Urea? Explain importance of Urea.

- How can you ‘prcpare Ethene using Ethyl alcohol and

Ethyl bromide.
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